

# A ONE-SIDED ANALOG OF KOLMOGOROV'S INEQUALITY<sup>1</sup>

BY ALBERT W. MARSHALL

*Stanford University*

**1. Introduction and summary.** It is well known (see e.g. [4] p. 198) that for every positive  $\epsilon$  and every square integrable random variable  $X$  with zero expectation,  $P\{X \geq \epsilon\} \leq E(X^2)/[\epsilon^2 + E(X^2)]$ . In this paper an inequality is obtained that generalizes this in the same way that Kolmogorov's inequality generalizes Chebyshev's inequality. The inequality is proved in Section 2 and an example is given to show that equality can be achieved. In Section 3 an extension to continuous parameter martingales is obtained, and a condition under which equality can be achieved is given.

## 2. The inequality.

**THEOREM 2.1.** *Let  $X_1, X_2, \dots, X_n$  be random variables with  $E(X_1) = 0$ ,  $E(X_i | X_1, X_2, \dots, X_{i-1}) = 0$  a.e. ( $i = 2, 3, \dots, n$ ), and  $E(X_i^2) = \sigma_i^2 < \infty$ , ( $i = 1, 2, \dots, n$ ). Then, for every positive  $\epsilon$ ,*

$$(1) \quad P\{\max_{1 \leq i \leq n} (X_1 + X_2 + \dots + X_i) \geq \epsilon\} \leq s_n/(\epsilon^2 + s_n), \quad \text{where } s_n = \sum_{i=1}^n \sigma_i^2.$$

Note that, if  $Y_i = \sum_{k=1}^i X_k$ ,  $i = 1, 2, \dots, n$ , then  $\{Y_i, 1 \leq i \leq n\}$  is a martingale and  $E(Y_n^2) = s_n$ .

**PROOF.** Let  $F(x) = F(x_1, x_2, \dots, x_n) = (\epsilon \sum_{i=1}^n x_i + s_n)^2 / (\epsilon^2 + s_n)^2$ , and let

$$B_k = \{X_1 + X_2 + \dots + X_i < \epsilon, i = 1, 2, \dots, k-1,$$

$$X_1 + X_2 + \dots + X_k \geq \epsilon\}, \quad k = 1, 2, \dots, n.$$

Then

$$\begin{aligned} \int F(X) dP &\geq \sum_{k=1}^n \int_{B_k} F(X) dP \geq \frac{1}{(\epsilon^2 + s_n)^2} \sum_{k=1}^n \int_{B_k} \left( \epsilon \sum_{i=1}^k X_i + s_n \right)^2 dP \\ &\geq \sum_{k=1}^n P(B_k) = P\{\max_{1 \leq i \leq n} (X_1 + \dots + X_i) \geq \epsilon\}. \end{aligned}$$

Since  $\int F(X) dP = s_n/(\epsilon^2 + s_n)$ , the proof is complete. Note the similarity of this proof to the standard proof of Kolmogorov's inequality (see e.g. [1] p. 105, 314 or [3] p. 235, 386).

To show that equality can be achieved in (1), let  $s_k = \sum_{i=1}^k \sigma_i^2$ ,  $k = 1, 2, \dots, n$ , and let  $Z = (Z_1, Z_2, \dots, Z_n)$  be a random variable having the following distribution:

Received June 18, 1959; revised October 28, 1959.

<sup>1</sup> This research was sponsored by the Office of Naval Research.

$$\begin{aligned}
 P\{Z = (\epsilon, 0, \dots, 0)\} &= \sigma_1^2/(\epsilon^2 + s_1) = p_1, \\
 P\left\{Z = \epsilon^{-1}(-\sigma_1^2, -\sigma_2^2, \dots, -\sigma_{k-1}^2, \epsilon^2 + s_{k-1}, 0, \dots, 0)\right\} \\
 &= \frac{\epsilon^2 \sigma_k^2}{(\epsilon^2 + s_{k-1})(\epsilon^2 + s_k)} = p_k, \quad k = 2, 3, \dots, n, \\
 P\{Z = \epsilon^{-1}(-\sigma_1^2, -\sigma_2^2, \dots, -\sigma_n^2)\} &= \epsilon^2/(\epsilon^2 + s_n).
 \end{aligned}$$

It is easily verified by induction on  $j$  that

$$(2) \quad \sum_{k=1}^j p_k = 1 - \epsilon^2/(\epsilon^2 + s_j), \quad j = 1, 2, \dots, n,$$

so that this is a valid probability distribution. Clearly,  $E(Z_1) = 0$ . It can be shown that  $E(Z_j | Z_1, \dots, Z_{j-1}) = 0$  a.e. (by first computing

$$E(Z_j | Z_{j-1} \neq \sigma_{j-1}^2/\epsilon) \quad \text{and} \quad E(Z_j | Z_{j-1} = -\sigma_{j-1}^2/\epsilon))$$

and that  $E(Z_j^2) = \sigma_j^2, j = 1, 2, \dots, n$ . Thus the random variable  $Z$  satisfies the conditions of Theorem 2.1; furthermore, equality holds in (1) whenever  $(X_1, \dots, X_n) = Z$  a.e.

Kolmogorov's inequality has been extended under certain conditions by Hájek and Rényi [2] to provide a bound for

$$P\{\max_i \epsilon_i^{-1} | X_1 + \dots + X_i | \geq 1\} \quad (\epsilon_i > 0, i = 1, 2, \dots, n),$$

and it is natural now to ask what the best upper bound is for

$$P\{\max_i \epsilon_i^{-1}(X_1 + \dots + X_i) \geq 1\}$$

under the conditions of Theorem 2.1. Unfortunately this bound has no simple expression even for small  $n$ , and is not easily obtained. It is given here only for  $n = 2$ .

**THEOREM 2.2.** *Let  $X_1$  and  $X_2$  be random variables with  $E(X_1) = 0, E(X_2 | X_1) = 0$  a.e., and  $E(X_i^2) = \sigma_i^2 < \infty, i = 1, 2$ . Then if  $\epsilon_1 > 0$  and  $\epsilon_2 > 0$ ,*

$$(3) \quad P\{X_1 \geq \epsilon_1 \text{ or } X_1 + X_2 \geq \epsilon_2\} \leq \frac{\sigma_2^2 + \sigma_1^2(\alpha_2/\alpha_1)^2}{\sigma_2^2 + \alpha_2^2/\alpha_1},$$

where  $\alpha_i = \sigma_i^2 + \eta_1 \eta_i, i = 1, 2$ , and  $\eta_1 = \min(\epsilon_1, \epsilon_2), \eta_2 = \epsilon_2$ .

**PROOF.** Following the method of Hájek and Rényi [2], we let  $F(x_1, x_2) = c_1 F_1^2(x_1) + c_2 F_2^2(x_1 + x_2)$ , where

$$c_1 = \frac{\eta_1^2}{\alpha_1^2} - \frac{\eta_1^2(\alpha_2 + \sigma_2^2)^2}{(\alpha_2^2 + \sigma_2^2 \alpha_1)^2}, \quad c_2 = \frac{\eta_1^2 \alpha_2^2}{(\alpha_2^2 + \sigma_2^2 \alpha_1)^2},$$

$$F_1(x) = \left(x + \frac{\sigma_1^2}{\eta_1}\right), \quad F_2(x) = \left(x + \frac{\sigma_1^2}{\eta_1} + \frac{\sigma_2^2 \alpha_1}{\eta_1 \alpha_2}\right),$$

and we let  $B_1 = \{X_1 \geq \eta_1\}, B_2 = \{X_1 < \eta_1, X_1 + X_2 \geq \eta_2\}$ . Since  $\alpha_2 \geq \alpha_1 > 0$ , it follows that  $c_1 \geq 0$ , and, as in the proof of Theorem 2.1,

$$\int_{B_1} F(X_1, X_2) dP \geq P(B_1),$$

$$\int_{B_2} F(X_1, X_2) dP \geq \int_{B_2} c_2 F_2^2(X_1 + X_2) dP = P(B_2).$$

Thus  $\int F(X_1, X_2) dP \geq P(B_1) + P(B_2) = P\{X_1 \geq \eta_1 \text{ or } X_1 + X_2 \geq \eta_2\} \geq P\{X_1 \geq \epsilon_1 \text{ or } X_1 + X_2 \geq \epsilon_2\}$ . It is straightforward to verify that, upon integrating the function  $F(X_1, X_2)$ , one obtains the bound given in (3), and this completes the proof.

Equality is achieved in (3) whenever  $(X_1, X_2)$  has the following distribution:

$$P\{(X_1, X_2) = (\eta_1, 0)\} = \sigma_1^2/\alpha_1, \quad P\left\{(X_1, X_2) = \left(-\frac{\sigma_1^2}{\eta_1}, \frac{\alpha_2}{\eta_1}\right)\right\} \\ = \frac{\eta_1^2 \sigma_2^2}{\alpha_1 \sigma_2^2 + \alpha_2^2}, \quad P\left\{(X_1, X_2) = \left(-\frac{\sigma_1^2}{\eta_1}, -\frac{\sigma_2^2 \alpha_1}{\eta_1 \alpha_2}\right)\right\} = \frac{\eta_1^2 \alpha_2^2}{\alpha_1(\alpha_1 \sigma_2^2 + \alpha_2^2)}.$$

In this case,  $P\{X_1 \geq \eta_1 \text{ or } X_1 + X_2 \geq \eta_2\} = P\{X_1 \geq \epsilon_1 \text{ or } X_1 + X_2 \geq \epsilon_2\}$ .

Several inequalities follow from (3) simply by a change of variables. The corollaries below are given to illustrate the possibilities.

**COROLLARY 2.3.** *Let  $X_1$  and  $X_2$  be random variables with  $E(X_1) = a$ ,  $E(X_2 | X_1) = bX_1 + c$  a.e. (where  $b \neq -1$ ), and  $\text{Var}(X_i) = \sigma_i^2 < \infty, i = 1, 2$ . Then if  $\epsilon_1 - a > 0$  and  $[\epsilon_2 - \delta(a + ab + c)]/|b + 1| > 0$  where  $\delta = \text{sign}(b + 1)$ ,*

$$(4) \quad P\{X_1 \geq \epsilon_1 \text{ or } \delta(X_1 + X_2) \geq \epsilon_2\} \leq \frac{\sigma_2^2 - b^2\sigma_1^2 + \sigma_1^2[(b + 1)\alpha_2/\alpha_1]^2}{\sigma_2^2 - b^2\sigma_1^2 + [(b + 1)^2\alpha_2^2/\alpha_1]}$$

where  $\alpha_i = \sigma_i^2 + \eta_i \eta_i, i = 1, 2$ , and  $\eta_2 = [\epsilon_2 - \delta(a + ab + c)]/|b + 1|, \eta_1 = \min(\epsilon_1 - a, \eta_2)$ .

**PROOF.** This follows from Theorem 2.2 by making the change of variables

$$X'_1 = X_1 + a, \quad X'_2 = bX_1 + (b + 1)X_2 + ab + c, \\ \epsilon'_1 = \epsilon_1 + a, \quad \epsilon'_2 = \epsilon_2 |b + 1| + \delta(a + ab + c)$$

and dropping the primes.

Note that by taking  $a = b = c = 0$  in this corollary, one obtains Theorem 2.2.

**COROLLARY 2.4.** *Let  $X_1$  and  $X_2$  be random variables such that  $E(X_i) = \mu_i, \text{Var}(X_i) = \sigma_i^2 < \infty, i = 1, 2, \text{Cov}(X_1, X_2) = \sigma_{12} \neq 0$ , and suppose that the regression of  $X_2$  on  $X_1$  is linear. Then, if  $\epsilon_1 - \mu_1 > 0$  and  $(\delta\epsilon_2 - \sigma_1^2\mu_2)/\sigma_{12} > 0$ , where  $\delta = \text{sign} \sigma_{12}$ ,*

$$(5) \quad P\{X_1 \geq \epsilon_1 \text{ or } \delta X_2 \geq \epsilon_2\} \leq \frac{\sigma_1^2(\sigma_1^2 \sigma_2^2 - \sigma_{12}^2) + \sigma_1^2(\alpha_2 \sigma_{12}/\alpha_1)^2}{\sigma_1^2(\sigma_1^2 \sigma_2^2 - \sigma_{12}^2) + (\alpha_2^2 \sigma_{12}^2/\alpha_1)},$$

where  $\alpha_i = \sigma_i^2 + \eta_i \eta_i, i = 1, 2$ , and  $\eta_2 = (\delta\epsilon_2 - \sigma_1^2\mu_2)/\sigma_{12}, \eta_1 = \min(\epsilon_1 - \mu_1, \eta_2)$ .

**PROOF.** To obtain (5) from (3), make the change of variables  $X'_1 = X_1 + \mu_1$ ,

$X_2' = [\sigma_{12}'(X_1 + X_2)/\sigma_1'^2] + \mu_2$ ,  $\epsilon_1' = \epsilon_1 + \mu_1$  and  $\epsilon_2' = \delta(\epsilon_2\sigma_{12}' + \sigma_1'^2\mu_2)$  in (3), and then remove the primes.

**3. An extension to continuous parameter martingales.** We begin by assuming that the underlying probability space is such that  $P$  is complete. Then we have the following:

**THEOREM 3.1.** *If  $\{Y_t, t \geq 0\}$  is a separable martingale with  $E(Y_t) = 0$  and  $E(Y_t^2) = \sigma^2(t) < \infty$  for all  $t \geq 0$ , then, for every positive  $\epsilon$  and  $\tau$ ,*

$$(6) \quad P \left\{ \sup_{t \in [0, \tau]} Y_t \geq \epsilon \right\} \leq \frac{\sigma^2(\tau)}{\epsilon^2 + \sigma^2(\tau)}.$$

**PROOF.** Let  $0 = t_1 \leq t_2 \leq \dots \leq t_n = \tau$ . Since  $X_1 = Y_{t_1}$  and  $X_i = Y_{t_i} - Y_{t_{i-1}}$ ,  $i = 2, 3, \dots, n$  satisfy the conditions of Theorem 2.1,

$$(7) \quad P \left\{ \max_{1 \leq i \leq n} Y_{t_i} \geq \epsilon \right\} \leq \sigma^2(\tau)/[\epsilon^2 + \sigma^2(\tau)].$$

Let  $S$  be a countable set satisfying the definition of separability and containing the points 0 and  $\tau$ . Taking the supremum of the left side of (7) over all finite subsets of  $S \cap [0, \tau]$ , we obtain

$$P \left\{ \sup_{t \in S \cap [0, \tau]} Y_t \geq \epsilon \right\} \leq \sigma^2(\tau)/[\epsilon^2 + \sigma^2(\tau)].$$

But

$$P \left\{ \sup_{t \in S \cap [0, \tau]} Y_t \geq \epsilon \right\} = P \left\{ \sup_{t \in [0, \tau]} Y_t \geq \epsilon \right\},$$

and the proof is complete.

**THEOREM 3.2.** *Equality can be achieved in (6) if  $\sigma^2(\cdot)$  is right continuous.*

**PROOF.** In order to define a martingale that achieves equality in (6), let  $\Omega = \{-1\} \cup [0, \infty)$ ,  $\mathfrak{B}$  be the Borel subsets of  $\Omega$ , and let  $P$  be the probability measure defined on  $\mathfrak{B}$  by

$$P(B) = \{\epsilon^2/[\epsilon^2 + \lim_{x \rightarrow \infty} \sigma^2(x)]\} \chi_{B \cap \{-1\}} + \mu(B \cap [0, \infty)),$$

where  $\chi_B$  is the characteristic function of the set  $B$  and  $\mu$  is the measure induced on the Borel subsets of  $[0, \infty)$  by the right continuous distribution function  $\sigma^2(\cdot)/[\epsilon^2 + \sigma^2(\cdot)]$ . Let  $\{Z_t, t \geq 0\}$  be defined on  $(\Omega, \mathfrak{B}, P)$  by

$$Z_t(\omega) = \begin{cases} -\sigma^2(t)/\epsilon & 0 \leq t < \omega \\ \epsilon & 0 \leq \omega \leq t \\ \text{or } \omega = -1 & \end{cases}$$

Then

$$P \left\{ \sup_{t \in [0, \tau]} Z_t \geq \epsilon \right\} = P\{0 \leq \omega \leq \tau\} = \sigma^2(\tau)/[\epsilon^2 + \sigma^2(\tau)],$$

and it remains only to verify that the process  $\{Z_t, t \geq 0\}$  satisfies the conditions of Theorem 3.1. We compute

$$E(Z_t) = [-\sigma^2(t)P\{\omega > t \text{ or } \omega = -1\}/\epsilon] + \epsilon P\{0 \leq \omega \leq t\} = 0,$$

and similarly obtain  $E(Z_t^2) = \sigma^2(t), t \geq 0$ . Clearly  $E\{Z_t | Z_s = \epsilon\} = Z_s$  where  $0 \leq s < t$  are fixed. Let  $\theta = E\{Z_t | Z_s = -\sigma^2(s)/\epsilon\}$ ; using the relation

$$0 = E(Z_t) = E[E(Z_t | Z_s)] = \epsilon P\{Z_s = \epsilon\} + \theta P\{Z_s = -\sigma^2(s)/\epsilon\},$$

we obtain  $\theta = -\sigma^2(s)/\epsilon$ . Hence the process  $\{Z_t, t \geq 0\}$  is a martingale satisfying the conditions of Theorem 3.1 and achieving equality in (3.1).

#### REFERENCES

- [1] J. L. DOOB, *Stochastic Processes*, John Wiley and Sons, New York, 1953.
- [2] J. HÁJEK AND A. RÉNYI, “Generalization of an inequality of Kolmogorov,” *Acta Math. Acad. Sci. Hungar.*, Vol. 6 (1955), pp. 281–283.
- [3] MICHEL LOÈVE, *Probability Theory*, D. Van Nostrand, New York, 1955.
- [4] J. V. USPENSKY, *Introduction to Mathematical Probability*, McGraw Hill, New York, 1937.